53k HENRHAEAIERREEEZIEI—REXFITHHEOREKR

X g & Bt W TE T W EH REFERL | BHEARL
AR FE(~290) 220 33 19 153 15
FRRAEZE (B0A~) 44 20 7 16 1

= &t 264 53 26 169 16

AR FREANRBENRERERIESREERCEIC—REXRITHHEORERR

X 5 & i | REW S RE REFERL | [BERL
/AR ZE(~290) 31 0 2 29 0
R ¥ | TPREFEGBOAN) 3 1 0 2 0
= it 34 1 2 31 0
/AR ZE(~290) 18 2 1 13 2
o ¥ | PREEGOA~) 13 8 1 3 1
= it 31 10 2 16 3
/AR ZE(~290) 80 18 4 51 7
ﬁﬂﬁkéi FRAREE (30 A~) 10 5 2 3 0
B it 90 23 6 54 7
B A FE(~290) 12 8 1 3 0
s TSI " B B B
a it 12 8 1 3 0
/N A ZE(~290) 29 0 4 24 1
B PE | PREZHEBOA~) - - - - -
a it 29 0 4 24 1
. /N A ZE(~290) 8 2 2 4 0
% fg % 1IR3 (30 A~) 7 2 2 3 0
a it 15 4 4 7 0
/N A ZE(~290) 30 3 4 21 2
=¥ | PRAEZHEBOA~) 5 1 2 2 0
& it 35 4 6 23 2
/N A ZE(~290) 12 0 1 8 3
Z O | FREZEGOA~) 5 2 0 3 0
= it 17 2 1 11 3




